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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 6.41 80.72| #h L4t |0.00 ~ 6.41| 1.80 9.62 s 1.00f 500 ~ 7.60 80.72| #h L4+ | 5.00 ~ 7.60[ 1.80 9.62
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.22 78.04| FhLlst 1000 ~ 6.22| 1.99 10.63 s 1.00f 500 ~ 8.10 78.04| #hLl4t | 500 ~ 8.10[ 1.99 10.63
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.32 79.40| ZhLlst 1000 ~ 6.32| 1.92 10.30 s 1.00f 500 ~ 7.90 7940 FhLlst | 500 ~ 790 1.92 10.30
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00/0.00 ~ 540 67.36] =nLlst | 000 ~ 540| 2.01 10.77 s 1.00f 500 ~ 6.80 67.36) =nLl4t | 500 ~ 6.80[ 2.01 10.77
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 5.26 65.53| #nLlst | 000 ~ 526| 1.84 9.85 s 1.00f 500 ~ 5381 65.53| #nLlst | 500 ~ 581 1.84 9.85
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 4.77 59.50| Z#hLlst |0.00 ~ 0.00 1.71 9.17 s 1.00f 500 ~ 5.00 59.50( #h 4t | 5.00 ~ 500 1.71 9.17
7 100kN/m##8 %% 1.00{0.00 ~ 1.06 115.97| 3m%x#B 25 = Kad = = —| 100kN/mM%#2 % % 1.00{ 10.61 ~ 13.80 115.97| 3m%x#B 25 =l ~ - - =
s 1.00/1.06 ~ 8.85 100.00f Z=hkl4t+ |0.00 ~ 8.85| 2.25 12.05 s 1.00f 5.00 ~ 10.61 100.00f Z=hl4t | 5.00 ~ 13.80] 2.25 12.05
8 100kN/m##8 %% 1.00{0.00 ~ 1.25 118.98| 3m%x#B2x 5% = Kad = = —| 100kN/mM%#2Z % 1.00{ 10.88 ~ 14.82 118.98| 3m%x#B =25 =l ~ - - =
s 1.00]1.25 ~ 9.04 100.00f Zhkl9t |0.00 ~ 9.04] 2.32 12.44 s 1.00f 5.00 ~ 10.88 100.00| Zhl4t | 5.00 ~ 14.82| 2.32 12.44
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 7.09 90.04| Z#hLlst | 0.00 ~ 0.00| 1.67 8.93 s 1.00f 500 ~ 9.13 90.04| #h 4+ | 5.00 ~ 9.13| 1.67 8.93
10 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 244 32.44| =nLst | 000 ~ 244| 2.56 13.69 s 1.00f 500 ~ 5.76 32.44| =nklst | 500 ~ 5.76| 2.56 13.69
» 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 4.77 59.47| FhLlst | 000 ~ 477 1.74 9.34 s 1.00f 500 ~ 5.00 5947 #hl4 | 500 ~ 500 1.74 9.34
12 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00/0.00 ~ 5.04 62.76| =h Ll |0.00 ~ 504| 1.91 10.20 s 1.00f 500 ~ 5.70 62.76) =hLls+ | 500 ~ 570 1.91 10.20
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
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